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Ds= 0.50
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.00 N/mm2
.80 N/mm2
.20 N/mm2

N
I

NN

;H
[N

il il il Hil
=

i il
=

= T

=

6. 3672

PER fe &0, R & D7 AR BREE O 2 fif & RE

Fe=

Ft=
Fb=
Fs=

17.70 N/mm2
1.95 N/mm2
13.50 N/mm2
22.20 N/mm2
1. 80 N/mm2
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QL 1 kN QL 1 kN QL
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20. 70 N/mm2
0.83 N/mm2
16. 20 N/mm2
26. 70 N/mm2
2.10 N/mm2
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<1.00 OK
<1.00 OK
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(Q/A - 1/fs)
HART B (1x1000/32400 x 1/0.77)= 0.04 <1.00 OK
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Ft=
Fb=
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NL
Nm
NL+Nm

ML

20.70 N/mm2
2. 48 N/mm2
16. 20 N/mm2
26.70 N/mm2
2.10 N/mm2

PN )
W T i

AW
=44
Hi R
7 JAIF
& J5y i

TR OB

Ds= 0.50
BxD= 60x145x2
A= 8700 mm2
i= 60/4 12= 17. 32 mm
7= 210250 mm3
FE AR
Lfc= 7.59 N/mm2 Sfe=
Lfk= 0. 38 N/mm2 Stk=
Lft= 5.94 N/mm2 Sft=
Lfb= 9. 79 N/mm2 Sfb=
Lfs= 0. 77 N/mm2 Sfs=
E= 9000 N/mm2
1k= 2200x2= 4400 mm
A= 1k/i= 254.0 >150 NG
n= (3000/ 1 "2)= 0.05
Lfk= n :fc= 0. 38 N/mm2
Stk= 0. 69 N/mm2
Fk= 1. 04 N/mm2
NL 2 kN NL
NE 34 kN NW
NSE 36 kN NSW
ML 0 kN-m ML
ME 0 kN-m MW
MSE 0 kN-m MSW
QL 0 kN QL
QE 0 kN QW
QSE 0 kN QSW

(N//A *

1/ nfk)+M/Z -

1/fb)

13. 80 N/mm2
0. 69 N/mm2
10. 80 N/mm2
17.80 N/mm2
1. 40 N/mm2

(2x1000/8700 x 1/0.38)+(0x10°6/210250 x 1/9.79)

Wr

VT T Ao

Wi 2 PR

WriE bRk

fof L

G aynws): 3

JE R &

M b

JAE S AR AR

fh

i)

A

b7 +h ) K]
HFREF
e JAF
& JE g

AW K
H Ry
% JRF
& SRy

20 (f7E)
314 mm2

44 kN
75 kN
121 kN
121.5 kN

(36x1000/8700 x 1/0.69)+(0x10"6/210250
(75x1000/8700 x 1/0.69)+(0x10"6/210250
(87x1000/8700 x 1/1.04)+(0x1076/210250

(Q/A - 1/fs)

(0x1000/8700 x 1/0.77)= 0. 00
(0x1000/8700 x 1/1.4)= 0. 00
(0x1000/8700 x 1/1.4)= 0. 00
(0x1000/8700 x 1/2.1)= 0. 00

X 1/17.8;
x 1/17.8)
x 1/26.7)

<1.00 OK
<1.00 OK
<1.00 OK
<1.00 OK

o Ls= 44x1000/314= 140 N/mm2 <
o SEs= 75x1000/314= 239 N/mm2 >
o SWs= 121x1000/314= 385 N/mm2 >
0 Sms= 121. 5x1000/314= 387 N/mm2 >

Fe=
Fk=
Ft=
Fb=
Fs=

NL
Nm

NL+Nm

156 N/mm2
235 N/mm2
235 N/mm2
235 N/mm2

20. 70 N/mm2
1. 04 N/mm2
16. 20 N/mm2
26. 70 N/mm2
2.10 N/mm2

2 kN
85 kN
87 kN

O OO
=~
==
588

.00 OK
.00 NG
.00 NG
.00 NG
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